Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$35,393,855.50	\$33,183,368.40
Contributions	\$387,000.00	\$1,422,727.85
Withdrawals	(\$275,021.72)	(\$825,021.72)
Transfers In/Out	\$0.00	\$0.00
Income	\$26,529.65	\$94,390.17
Administrative Expense	(\$483.90)	(\$2,787.03)
Investment Expense	(\$774.06)	(\$7,370.23)
Investment Manager Fees	(\$40.20)	(\$1,283.96)
IFA Loan Repayment	\$0.00	(\$26,663.20)
Adjustment	(\$6,168.46)	(\$6,168.46)
Realized Gain/Loss	\$94.74	\$11,020.15
Unrealized Gain/Loss	(\$495,589.82)	\$1,187,189.76
Ending Balance	\$35,029,401.73	\$35,029,401.73

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.84%	N/A	N/A	N/A	N/A	0.38%	08/01/2022

BATAVIA POLICE PENSION FUND

Fund Name: BATAVIA POLICE PENSION

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$0.00	\$0.00
Contributions	\$0.00	(\$2,272.15)
Withdrawals	(\$21.72)	(\$21.72)
Transfers In/Out	\$21.72	\$2,293.87
Income	\$0.00	\$0.00
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	\$0.00	\$0.00
Unrealized Gain/Loss	\$0.00	\$0.00
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	0.000	0.000
Unit Purchases from Additions	2.154	2.154
Unit Sales from Withdrawals	(2.154)	(2.154)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit		\$10.083134
Period Ending Net Asset Value per Unit	\$0.000000	\$0.000000

Performance Summary:

BATAVIA POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	08/01/2022

BATAVIA POLICE PENSION FUND

Fund Name:

IPOPIF Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$35,393,855.50	\$33,183,047.73
Contributions	\$387,000.00	\$1,425,000.00
Withdrawals	(\$275,000.00)	(\$825,000.00)
Transfers In/Out	(\$21.72)	(\$1,959.97)
Income	\$26,529.65	\$94,389.85
Administrative Expense	(\$483.90)	(\$2,787.03)
Investment Expense	(\$774.06)	(\$7,370.23)
Investment Manager Fees	(\$40.20)	(\$1,283.96)
IFA Loan Repayment	\$0.00	(\$26,663.20)
Adjustment	(\$6,168.46)	(\$6,168.46)
Realized Gain/Loss	\$94.74	\$11,009.53
Unrealized Gain/Loss	(\$495,589.82)	\$1,187,187.47
Ending Balance	\$35,029,401.73	\$35,029,401.73

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	3,550,008.151	3,498,894.160
Unit Purchases from Additions	39,340.875	146,802.078
Unit Sales from Withdrawals	(28,321.573)	(84,668.785)
Ending Units	3,561,027.453	3,561,027.453
Period Beginning Net Asset Value per Unit	\$9.970077	\$9.483855
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

Performance Summary:

BATAVIA POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	0.31%	08/19/2022

Statement of Transaction Detail for the Month Ending 05/31/2023

BATAVIA POLICE PENSION FUND

Trade Date	Settle Date	Description	Amount	Unit Value	Units
BATAVIA POLICE PE	ENSION				
05/25/2023	05/26/2023	Transfers In	21.72	10.083134	2.1541
05/25/2023	05/26/2023	Redemptions	(21.72)	10.083134	(2.1541)
Transition Pool					
05/25/2023	05/26/2023	Transfers In	21.72	8.919671	2.4351
05/25/2023	05/26/2023	Transfers Out	(21.72)	8.919671	(2.4351)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	(6,168.46)	9.970077	(618.6973)
05/12/2023	05/15/2023	Redemptions	(275,000.00)	9.927560	(27,700.6636)
05/24/2023	05/25/2023	Contribution	387,000.00	9.837097	39,340.8747
05/25/2023	05/26/2023	Transfers Out	(21.72)	9.820810	(2.2116)